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QUESTION 1

Which are valid parts of an Analysis View Definition?

A. a Row Dimension and multiple Column Dimensions and a Rule Set
B. a Row Dimension and a Column Dimension and a range of Rule Sets
C. a Row Dimension and multiple Column Dimensions

D. a Row Dimension und a Column Dimension und a Rule Set

E. a Row Dimension and a Column Dimension

Correct Answer: B

QUESTION 2

Which types of dimensions do you use to define model views?
A. Business dimensions only

B. Business dimensions, POV dimensions

C. Business dimensions, POV dimensions. System dimensions
D. POV dimensions. System dimensions

Correct Answer: C

QUESTION 3

Which two statements are true about model validation?

A. You cannot deploy the application if model validation returns Invalid conditions.

B. Model validation validates rules, rule sets, and dimensions.

C. Running a model validation displays an error table with Information about Invalid conditions.

D. After the application is deployed, it can detect invalid model artifacts if changes are made to dimensions.

Correct Answer: BC

QUESTION 4
You update the name of a member that Is used In a number of allocation rules.

After deploying the changes to the database, what step can you take next to update your rules?
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A. The system automatically propagates the name change to your allocation rules; no additional step is necessary.
B. Use the Find and Replace tool In the Manage Rules screen to replace the member In all rules that use It.

C. On the Mass Edit tab of the Designer screen, create and run a job to replace the member in all rules that use it.
D. Use the ReplaceMember command In EPM Automate to replace the member In all rules that use It.

Correct Answer: D

QUESTION 5

Which custom calculation formula Is syntactically correct?
A. [Adjustment In]= ([Input], [Rule]) * .15;

B. [Adjustment In]= ([Input], (Rule]) * .15

C. [Adjustment In]:= ([Input], [Rule]) * .15;

D. [Adjustment In]:= [Input],[Rule] *.15

E. (Adjustment In)= (Input, Rule) - .15;

Correct Answer: A
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